
 
 

1. െനേ¢ഫാണിെÍ ഏത് ഭാഗമാണ് ര¤ം അരിെ°ടു£ുËത് ? (Which part of the nephron is 
responsible for filtration of blood?) 

a) േശഖരണ നാളി (Collecting duct) 
b) ലൂപ് ഓഫ് െഹൻലി (Loop of Henle) 
c) േബാമാൻസ് കാപ്സ óൾ (Bowman’s capsule) 
d) മൂ¢തസ´ി (Ureter) 

       

2. ¢പേമഹ ചികിÃയ£്് ഇൻസുലിൻ ഗുളിക രൂപÄിൽ എടു£ുËതിന് പകരം 

കുÄിവയ്£ുËത് എÎുെകാ¿്? (Why is insulin injected instead of taken orally for diabetes 
treatment?)      

a) ആമാശയÄിെല ദഹന എൻൈസമുകൾ ഇൻസുലിെന നശിÐി£ുËു (a) Insulin is 
destroyed by digestive enzymes in the stomach) 

b) ഇൻസുലിൻ െവßÄിൽ ലയി£ിÞ (Insulin is not water-soluble) 
c) ഓറൽ ഇൻസുലിൻ ര¤¢പവാഹÄിേല£് എÄുËിÞ (Oral insulin does not enter the 

bloodstream) 
d) ഓറൽ ഇൻസുലിൻ ഗുരുതരമായ പാർശ¡ഫല¯ൾ ഉ¿ാ£ുËു (Oral insulin causes 

severe side effects) 
     

3.  സപുഷ്പ സസ ¯ളിൽ ബീജസ­ലനÄിന് മുൻപ് പരാഗണം ആവശ മായിരി£ുËത് 

എÎുെകാ¿്? (Why do flowering plants need pollination before fertilization?) 
     

a) പുരുഷ ഗാേമÜòകെള സ¢്തീ ¢പത òത്പാദന ഭാഗ¯ളിേല£് മാÜാൻ (To transfer male 
gametes to female reproductive parts) 

b) ബീജസ­ലനÄിന് മുൻപ് അ»¯ൾ വികസി£ാൻ അനുവദി£ാൻ (To allow the 
ovules to develop before fertilization) 

c) ദുർബലമായ പൂെØാടികെള നീ£ം െചÛാൻ (To eliminate weak pollen grains) 
d) കായ്കൾ വിളയാൻ സഹായി£ാൻ (To help in fruit ripening) 

         

4. ഒരു ഇൻ¢ടാ യൂ¸ൈറൻ ഉപകരണം (IUD) എ¯െന ഗർഭധാരണം തടയുËു?( How does an 
intrauterine device (IUD) prevent pregnancy?) 

     

a) അേ»ാത്പാദനം തട·് (By stopping ovulation) 
b) ബീജം അ»വുമായി േചരുËത് തട·് (By preventing sperm from reaching the egg) 
c) ഫാേലാപ ൻ ട óബ് തടèെÐടുÄി  (By blocking the fallopian tubes) 
d) ബീജസ­ലനം കഴി· അ»ം ഗർഭപാ¢തÄിൽ പÜിേചരുËത് തടèെÐടുÄി (By 

disrupting the implantation of the fertilized egg) 
     

5. 
/  The law that allows women to seek divorce by paying money to their husband?  
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6. ഇര¸കൾ രൂപെÐടുËതിെന£ുറി°òß താെഴ പറയുË ¢പസ്താവനകളിൽ ഏതാണ് ശരി? 

(Which of the following statements about the formation of twins is correct?) 
     

a) ര¿് ബീജേകാശ¯ൾ ര¿് വ ത സ്ത ബീജ¯ളòമായി േചർË് ഐഡÍî£ൽ ഇര¸കൾ 
ഉ¿ാകുËു (Identical twins result from the fertilization of two separate eggs by two 
sperm cells)     

b) ¢ഫേÜണൽ ഇര¸കൾ£് ഒേര ജനിതക ഘടനയാണ് ഉßത ്(Fraternal twins share the 
exact same genetic makeup)     

c) ഒരു ബീജസ­ലനം െചയ്ത അ»ം ര¿് ¢ഭൂണ¯ളായി പിളരുേØാൾ ഐഡÍî£ൽ 
ഇര¸കൾ ഉ¿ാകുËു (Identical twins develop when a single fertilized egg splits into two 
embryos)     

d) ¢ഫേÜണൽ ഇര¸കൾ എേÐാഴും ഒേര ലിംഗÄിലുßവ ആയിരി£ും (Fraternal twins are 
always of the same gender) 

        

7. ¢പത òത്പാദനÄിൽ വ തിയാനം ¢പധാനമാകുËത് എÎുെകാ¿്? (Why is variation important 
in reproduction?) 

     

a) ഇത് എÞാ സÎാന¯െളയും അവരുെട മാതാപിതാ£ളòമായി ഒരുേപാെല ആ£ുËു (It 
makes all offspring identical to their parents) 

b) മാറുË പാരിéിതിക സാഹചര ¯ളòമായി െപാരുÄെÐടാൻ ഇത് സ്പീഷീസുകെള 
സഹായി£ുËു (It helps species adapt to changing environmental conditions) 

c) കഠിനമായ സാഹചര ¯ളിൽ ¢പത òത്പാദനം തടയുËു (It prevents reproduction in harsh 
environments) 

d) ൈലംഗിക ¢പത òത്പാദനം മാ¢തേമ നട£ുËുßó എË് ഉറÐാ£ുËു (It ensures that only 
asexual reproduction occurs) 

         

8. ൈലംഗിക ¢പത òത്പാദനÄിൽ മിേയാസിസിെÍ ¢പാധാന ം എÎാണ്? (What is the significance 
of meiosis in sexual reproduction?)  

     

a) ഇത് ഡിേÑായിഡ് ഗാേമÜòകൾ ഉ¿ാ£ുËു (It creates diploid gametes) 
b) സÎാന¯ളിൽ േ¢കാമേസാം എ¾ം വർÈിÐി£ുËു (It increases chromosome number 

in offspring) 
c) തലമുറകളിലുടനീളം േ¢കാമേസാം എ¾ം éിരമായി നിലനിർÄുËു (It ensures the 

chromosome number remains constant across generations) 
d) സÎാന¯ളിെല വ തിയാനം ഇÞാതാ£ുËു (It eliminates variation in offspring) 

 
9. ഇÎ ൻ  ഭരണഘടനയിെല പ´ായÄുകെളയും നഗരപാലികകെളയും (Panchayats & 

Nagarpalikas) സംബÊി° 73-ാമെÄയും 74-ാമെÄയും ഭരണഘടനാ േഭദഗതികൾ 
നടÐിലാ£ിയ സമയÄ് ഇÎ ൻ ¢പധാനമ¢Îി ആരായിരുËു? (Who was the Prime Minister of 
India at the time of 73rd and 74th Amendments to the Constitution of India pertaining to Panchayats and 
Nagarpalikas?) 

 

a) ഇÉിരാ ഗാÊി (Indira Gandhi) 
b) രാജീവ ്ഗാÊി (Rajeev Gandhi) 
c) പി.വി. നരസിംഹ റാവു (P.V. Narsimha Rao) 
d) വി.പി. സിംഗ് (V.P. Singh) 
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a) / Instruction in the islmic 

law to do something  
b)  / Freedom given by Islam 

to do something or not to do  
c) / Something against goodness  

d) / Instruction to do something 

compulsorily 
 

11. േലാക്സഭയിേല£് എ¢ത  ആംേ¬ാ-ഇÎ ൻ സമുദായ അംഗ¯െളയാണ്  രാഷ¢്ടപതി 
നാമനിർേദശം െചÛòËത ്? (How many members of the Anglo-Indian community are nominated to 
the Lok Sabha by the President?) 

 

a) 3 
b) 5 
c) 1 
d) 2 

 

12. ഇÎ യുെട മുഖ  തിരെ·ടുÐ് ക×ീഷണെറ (Chief Election Commissioner) നിയമി£ുËത ്
ആരാണ്? (The Chief Election Commissioner of India is appointed by) 

 

a) േലാക്സഭ (Lok Sabha) 
b) ¢പധാനമ¢Îി (Prime Minister) 
c) രാഷ¢്ടപതി (President) 
d) സു¢പീംേകാടതി ചീഫ് ജçിസ ് (Chief Justice) 

 

13. ഇÎ യിൽ ഒേര സമയÄ് തിരെ·ടുÐ് നടÄുËതിെന£ുറി°òß ,േക¢É മ¢Îിസഭ 
അംഗീകരി° റിേÐാർ¸് തÛാറാ£ിയ ഉËതാധികാര സമിതിയുെട അധ §ൻ ആരായിരുËു? 
(The Union cabinet has cleared the proposal to hold simultaneous elections in India, as recommended by 
a high-level committee. The committee was headed by) 

 

a) ദിേനഷ ്േഗാസ¡ാമി (Dinesh Goswami) 
b) രാംനാഥ് േകാവിÉ് (Ramnath Kovind) 
c) ആനÉ് മി¢ത (Anand Mitra) 
d) ര¶ൻ ഗേഗായ ്(Ranjan Gogoi) 

 

14. 42-ാം ഭരണഘടനാ േഭദഗതി ¢പകാരം (42nd Constitutional Amendment Act) മൗലിക 
കർÄവ ¯ൾ (Fundamental Duties) ഏത ്അനുേ±ദÄിലാണ് ഉൾെÐടുÄിയിരി£ുËത ്? 
(Under which Articles of Indian Constitution, provision for Fundamental Duties has been made by the 
42nd Constitutional Amendment Act?) 

 

a) അനുേ±ദം 50 (Article 50) 
b) അനുേ±ദം 51A (Article 51A) 
c) അനുേ±ദം 52 (Article 52) 
d) അനുേ±ദം 53 (Article 53) 

 

15. െപാതു േമഖല (Public Sector) ,സ¡കാര  േമഖല (Private Sector) എËീ വിഭാഗ¯ളായി 
വ വസായ¯ൾ തരംതിരി£ുËത ്എÎിെÍ  അടിéാനÄിലാണ്? (Choose the most suitable 
answer: the sectors are classified into public and private sector based on)  

 

a) െതാഴിൽ നിബÊനകൾ (Employment conditions) 
b) സാØÄിക ¢പവർÄനÄിെÍ സ¡ഭാവം (Nature of economic activity) 
c) സംരംഭ¯ളòെട ഉടമéാവകാശം (Ownership of enterprises) 
d) éാപനÄിൽ േജാലിെചÛòË െതാഴിലാളികളòെട എ¾ം (Number of workers 

employed) 



 

 / A 

namaz that is not instructed to be repeated due to the violation of its conditions ?
a)  / Namaz performed by being 

not able to cover one's nakedness 
b)  / Namaz performed by being not able to 

remove najas  
c) / Namaz performed along with impurity  

d)   / Namaz performed by facing not to Qibla 
 

17. 1991 മുതൽ ഭാരതÄിൽ ¢പധാനമായ സാØÄിക മാÜ¯ൾ നടËു. ഇÎ ൻ ഉത്പാദകെര 
ആേഗാളതലÄിൽ മÃരി£ാൻ േ¢പാÃാഹിÐി°ò. ഈ ഘ¸െÄ എÎാണ് വിളി£ുËത?് 
(Starting around 1991, some far- reaching changes in economic policy were made in India. The 
government decided that the time had come for Indian producers to compete with producers around the 
globe, This phase is known as)  

 

a) ആേഗാളീകരണം (Globalization) 
b) വ വസായവൽ£രണം  (Re-industrialization) 
c) െപാതുേമഖലയുെട ആധിപത  നിയ¢Îണം (Dominant Public Sector Control) 
d) മുകളിൽ പറയുËവ ഒËുമÞ (None of the above) 

 

18. ബഹുരാഷ്¢ട കØനികൾ (MNCs) പല രാജ ¯ളിലും നിേ§പം നടÄുËതിനുß ഏÜവും 
സാധാരണമായ മാർഗം ഏതാണ്? (The most common route for investments by Multinational 
Companies-MNCs- in countries around the world is to) 

 

a) പുതിയ ഫാക്ടറികൾ തുട¯ുക (Set up new factories) 
b) നിലവിലുß ¢പാേദശിക കØനികെള വാ¯ുക (Buy existing local companies) 
c) ¢പാേദശിക കØനികളòമായി പ­ാളിÄം രൂപെÐടുÄുക (Form partnerships with local 

companies) 
d) മുകളിൽ പറയുËവ ഒËുമÞ (None of the above) 

 

19. 1986-െല ഉപേഭാ¤ൃ സംര§ണ നിയമം (Consumer Protection Act 1986) ഇÎ യിെല ഓേരാ 
ഉപേഭാ¤ാവിനും ചില അവകാശ¯ൾ ഉറÐാ£ുËു. അതിൽ െപടുÄാവുËവ ഏവ? (The 
Consumer Protection Act 1986 ensures the following rights which every consumer in India should 
possess. Which one is part of that?) 

1. തിരെ·ടുÐിെÍ അവകാശം (Right to Choice) 
2. സുര§യുെട അവകാശം (Right to Safety) 
3. തർ£ പരിഹാരÄിനുß അവകാശം (Right to Redressal) 

 
a) 1, 2, 3    b) 2, 3     c) 1, 3    d) 1 മാ¢തം (only 1) 

 

20.  / The most virtious sunnah namaz ?  

a)  / Id ul Fithar namaz 

b)  / Tharavih namaz 

c)  / Vithr namaz 

d)  / Id al Azha namaz 

 

21. ഇÎ യിെല വാർഷിക സാØÄിക സർേവ (Annual Economic Survey) ¢പസിÈീകരി£ുËത ്ഏത ്
വകുÐാണ്? (In India annual Economic Survey is published by)   

a) ധനകാര  മ¢Îാലയം (Ministry of Finance) 



b) നീതി  ആേയാഗ് (NITI Aayog) 
c) പാർലെമÍîെÍ െസ¢ക¸റിേയÜ് (Parliament Secretariat) 
d) ഇÎ ൻ çാÜിçി£ൽ ഇൻçിÜöó¸് (Indian Statistical Institute) 

 

22. മി¢ശ സാØÄിക വ വé (Mixed Economy) എËത ്െകാ¿് അർÅമാ£ുËത ്? (Mixed 
Economy means an economy where:) 

a .കൃഷി£ും വ വസായÄിനും ഒരുേപാെല േ¢പാÃാഹനം നൽകുËു (Both agriculture and 
industry are equally promoted by the state) 
b. െപാതുേമഖലയും സ¡കാര േമഖലയും ഒÐം നിലനിൽ£ുË സാØÄിക സംവിധാനം (Co-
existence of public sector along with private sector) 
c. െചറുകിട വ വസായ¯ൾ£ും വാൻകിട വ വസായ¯ൾ£ും ഒരുേപാെല ¢പാധാന മുß 
സØദ് വ വé (Importance of small-scale industries along with heavy industries) 
d. ൈസനികരും സിവിലിയൻ ഭരണാധികാരികളòം ഒരുമി°് നിയ¢Îി£ുË സØദ് വ വé 
(Economy is controlled by military as well as civilian rulers). 

 

اِحْتِبَاء .23  sitting is karaha  اِحْتِبَاء /  ? اِحْتِبَاء

for those who assembled for Juma. What is اِحْتِبَاء ?  

a)  / "Sitting with two knees raised 

and arms resting on it. 
b) / Sitting cross-legged 

c)   / Sitting on feet 

d)  / kneeling 
 

24. ഭൂമിയുെട അÎരീ§Äിെല ഏത ്പാളിയിലാണ് ഓേസാൺ പാളി éിതിെചÛòËത?് (Which 
layer of Earth’s atmosphere contains the ozone layer?) 

 

a) സ¢്ടാേÜാസ്ഫിയർ (Stratosphere) 
b) െമേസാസ്ഫിയർ (Mesosphere) 
c) അേയാേണാസ് ഫിയർ (Ionosphere) 
d) ഇവെയാËുമÞ  (None of the above)  

 

25. "ദ§ിണ ഗംഗ" എËറിയെÐടുË നദി ഏതാണ്? (Which river is also known as the Dakshin 
Ganga?) 

 

a) േഗാദാവരി (Godavari) 
b) കൃഷ്ണ (Krishna) 
c) കാേവരി (Kaveri) 
d) േപരിയാർ (Periyar) 

 

26. ഡ£ാൻ പീഠഭൂമിയിൽ  കൃഷി െചÛòË ¢പധാന വിള ഏതാണ്? (What is the main crop grown in 
the region of the Deccan Plateau?)  

 

a) േഗാതØ് (Wheat) 
b) അരി (Rice) 
c) പരുÄി (Cotton) 
d) ഇവെയാËുമÞ (None of the above) 

 

 The complete chapter that 

was revealed at last in the Holi Qur'an ?
a)  فَتْح

ْ
 ال

ُ
 سُورَة

b) ص
َ

لا
ْ

ِخ
ْ

 الا
ُ
     سُورَة



c) رْح  الشَّ
ُ
            سُورَة

d)  صْر  النَّ
ُ
 سُورَة

 

28. അജÎ- എേലാറ ഗുഹാമÉിര¯ൾ éിതിെചÛòËത ്ഏത ്സംéാനÄാണ്? (In which state 
are the Ajanta and Ellora caves located?)  

a) ഗുജറാÄ് (Gujarat) 
b) അസം (Assam) 
c) മഹാരാഷ¢്ട (Maharashtra) 
d) സി£ിം (Sikkim) 

 

 / How much rupees 

should be kept aside for a year if one becomes liable to give zakath ?
a) gm / Rupees equal to the gold of 80 gm.  

b) / Rupees equal to the price of 40 sheep. 

c) gm / The price of 595 gm silver 

d) / Price of 600 litre of paddy 
 

30. ഡ­ൻ പാേസജ ്(Duncan Passage) ഏത ്േക¢Éഭരണ ¢പേദശÄാണ് / സംéാനÄാണ്  

éിതിെചÛòËത?് (Duncan Passage is located in which of the following Union Territories / 
States?)  

a) ഹിമാചൽ ¢പേദശ ്(Himachal Pradesh) 
b) പുതുേ°രി (Pondicherry) 
c) ആൻഡമാൻ & നിേ£ാബാർ (Andaman & Nicobar) 
d) മിേസാറം (Mizoram) 

 

31. സുÉർബൻസ ്ഏത ്തരÄിലുß വനÄിെÍ ഉദാഹരണമാണ്? (Sundarbans in India is a fine 
example of which among the following kind of forests?) 

a) വര¿ വന ¢പേദശം  (Dry Forest) 
b) ക¿ൽ വന¯ൾ (Tidal Forest) 
c) ഉഷ്ണ േമഖലാ ഇലെപാഴിയും വന¯ൾ (Deciduous Forest) 
d) ആർ¢ദ ഇലെപാഴിയും വന¯ൾ (Wet Deciduous Forest) 

 

32. സമീപകാലÄ് വാർÄകളിൽ വË േപാളവാരം ബഹുമുഖ പÈതി  ഏത് സംéാനÄാണ്? 
(Polavaram Multipurpose Project, which was seen in the news, is located in which state?) 

a) േകരളം (Kerala) 
b) കർണാടക (Karnataka) 
c) ആ¢Êാ¢പേദശ് (Andhra Pradesh) 
d) മഹാരാഷ¢്ട (Maharashtra) 

 
33. "സാÍാ ആന" കാÜòകൾ എÎാണ്? (What are the ‘Santa Ana’ winds?)  

 a)പസഫിക് മഹാസമു¢ദÄിൽ നിË് വരുË തണുÄ, ഈർÐമുß കാÜòകൾ (Cold, wet 
winds from the Pacific Ocean) 

 b) ആർ£്ടി£് ¢പേദശÄ് നിË് വരുË കാÜòകൾ (Winds from the Arctic region) 
 c) േ¢ഗÜ് േബസിനിൽ നിË് വരുË ഉണ¯ിയ, ചൂടുß, ശ¤മായ കാÜòകൾ (Dry, warm, and 

powerful winds from the Great Basin) 
 d) കാലിേഫാർണിയയിേല£് മഴ െകാ¿ുവരുË കാÜòകൾ (Winds that bring rainfall to 

California) 
 

34. "മഹാഭാഷ ം" എË വ ാകരണ കൃതി രചി°ത ്ആരാണ?് (Mahabhashya’ an outstanding work in the 
fields of grammar is compiled by) 



a) അശ¡ിന്സ ്(Ashwins) 
b) േഘാഷ (Ghosha) 
c) ക§ിവത ്(Kakshivat) 
d) പത¶ലി (Patanjali) 

 
35. Anti-Retroviral Therapy (ART) ¢പധാനമായും ഏത ്േരാഗ ചികിÃയ£്് ഉപേയാഗി£ുËു? (Anti-

Retroviral Therapy (ART),  is primarily used for which disease?) 
a) എ°്.ഐ.വി (Human Immunodeficiency Virus - HIV) 
b) െഹർപീസ ്സിംെÑക്സ ്ൈവറസ ്(Herpes Simplex Virus - HSV) 
c) െഹÐൈÜÜിസ ്(Hepatitis) 
d) COVID-19 

 

36.  / How 

is the funeral preparation of an severed hand of a human alive ? 
a) / It is enough to bury it 

b) / It should be shrouded by kafan and then buried  

c) / It should be washed, shrouded by 

kafan and buried  
d)  / It should be shrouded by kafan then 

performed namaz and buried 
 

37. Space Docking Experiment (SPADEX) ദൗത ം ഏത ്ബഹിരാകാശ ഏജൻസിയുമായി 
ബÊെÐ¸ിരി£ുËു? (Space Docking Experiment (SPADEX) mission is associated with which 
space agency?) 

a.യൂേറാപ ൻ ബഹിരാകാശ ഏജൻസി (European Space Agency - ESA) 
b.ഇÎ ൻ ബഹിരാകാശ ഗേവഷണ സംഘടന (Indian Space Research Organisation - ISRO) 
c.ജാÐനീസ് ബഹിരാകാശ ഏജൻസി (Japan Aerospace Exploration Agency - JAXA) 
d.ൈചനാ നാഷണൽ സ്േപസ ്അഡ്മിനിസ്േ¢ടഷൻ (China National Space Administration - 

CNSA) 
 

38. 2024 വനിതകളòെട അ¿ർ-19 T20 ഏഷ ാ കÐ് േജതാ£ൾ ആര്? (Which of the following 
countries has won the Women’s T20 Under 19 Asia Cup 2024?) 

a) ഇÎ  (India) 
b) ബം¬ാേദശ ്(Bangladesh) 
c) ദ§ിണാ¢ഫി£ (South Africa) 
d) ഓസ് േ¢ടലിയ (Australia) 

 
39. 18-ആം നൂÜാ¿ിൽ ആരംഭി°് 19-ആം നൂÜാ¿ിെÍ മധ Äിൽ അവസാനി° ആദ  വ ാവസായിക 

വിÑവം ഏത ്രാജ Äാണ് ഉ¿ായത?് (The first Industrial Revolution- which was started in the 18th 
century and ended in Middle of 19th Century- took place in?) 

a) ഇം¬¿് (England) 
b) അേമരി£ (USA) 
c) ¢ഫാൻസ ്(France) 
d) ജർ×നി (Germany) 

 

ɸُمْ لآِبَا٬ِڈِمْ ادْعُو  .40 لِفِ  
َ
ة  ا

َ
حَرْك  / The sound (ة

َ
  of  (حَرْك

لِفِ )
َ
ɸُمْ لآِبَا٬ِڈِمْ ادْعُو  in the beginning of the verse  (ا  ? 

a) تْح
َ
       ف

b)  سْرَة
َ

 ك
c)  ّضَم 



d)  ون
ُ
ɢُس 

 
41. ¢കാേ£ാവിന ്സമീപമുß ഓസ് വി°്-ബിർെകനൗ സ്മാരകവും മ óസിയവും എÎിനാണ് 

¢പസിÈമായത?് (What is the significance of the Auschwitz-Birkenau Memorial and Museum located 
near Kraków?) 

a) ഇത ്േപാളിഷ് കലയ£്് സമർÐി° ഒരു യൂണസ് േകാ േലാക ൈപതൃക ൈസÜാണ്. (It is a 
UNESCO World Heritage Site dedicated to Polish art) 

b) ¢ഗുൻവാൾഡ ്യുÈÄിൽ േപാള¿ിെÍ വിജയെÄ ഓർമിÐി£ുËതായാണ് ഇത ്
നിർമി°ിരി£ുËത.് (It commemorates the Polish victory in the Battle of Grunwald.) 

c) േഹാേളാേകാç് കാലÄ് നടË ¢കൂരതകളòെട ഓർമസ്മാരകമായി ഇത ്നിലെകാßòËു.( 
It serves as a sombre reminder of the Holocaust atrocities) 

d) േപാളിഷ് സംéാനം éാപി°തിെÍ സ്മാരകമായി ഇത ്നിർ×ി£െÐ¸ിരി£ുËു (It 
celebrates the establishment of the Polish state) 

 

42.  
ُ
الْفِيلسُورَة  ? / The period of the historical event 

narrated in فِيل
ْ
 ال

ُ
 ? سُورَة

a)  / 50 years past the birth of the prophet 

(s) 
b)  / As soon as the prophet gained nubuvvath 

c)  / As soon as the prophet(s)'s birth

d)   / Just before 50 days of the prophet(s)'s 

birth 
 

43. സാധാരണയായി േബ£റി ഉൽÐË¯ളിൽ ഉപേയാഗി£ുË ഒരു ലവണമാണ് A, ചൂടാ£ുേØാൾ 
മെÜാരു ലവണമായ B ആയി മാറുËു. ഇത ്ജലÄിെÍ കാഠിന ം നീ£ം െചÛാൻ 

ഉപേയാഗി£ുËു. A, B എËിവ ഏെതË് കെ¿Äുക. (Salt A is commonly used in bakery 
products on heating gets converted into another salt B. Which is used to remove hardness of 
water. Identify A and B) 

a) A - NaHCO3 & B – Na2CO3 
b) A - Na2CO3  & B - NaHCO3 
c) A – NaCl & B – Na2CO3 
d) A – NaCl  & B – NaHCO3 

 
44. ഒരു േലാഹം ഓക്സിജനുമായി ¢പവർÄി£ുേØാൾ ഉ¿ാകുË ഉത്പËം ഏതാണ്: (When a 

metal reacts with oxygen, the product formed is:) 
a) ഓക്ൈസഡ്( Oxide) 
b) േ¦ാൈറഡ ്(Chloride) 
c) സൾൈഫഡ് (Sulphide) 
d) ൈനൈ¢ടഡ ്(Nitride) 
 

45. താെഴ പറയുËവയിൽ സംേയാജന രാസ¢പവർÄനÄിന ്(േകാØിേനഷൻ ¢പവർÄനÄിന)് 

ഉദാഹരണം ഏതാണ്? (Which of the following is an example of a combination reaction?)  
a) 2Na + 2H2O → 2NaOH + H2 
b) 2H2 + O2 → 2H2O 
c) Zn + CuSO4 → ZnSO4 + Cu 
d) CaCO3 → CaO + CO2 

 



46. കാർബണിെന£ുറി°് താെഴ പറയുË ¢പസ്താവനകളിൽ ഏതാണ് െതÜായത?് (Which of the 
following statements about carbon is incorrect?) 

a) കാർബണിന് മÜ് കാർബൺ ആÜ¯ളòമായി ബÊമു¿ാ£ാൻ കഴിയും.( Carbon can form 

bonds with other carbon atoms.) 
b) കാർബണിന് സ¡യമായി ഒËിലധികം േബാ¿ുകൾ (ഇര¸, triple) ഉ¿ാ£ാൻ കഴിയും.( 

Carbon can form multiple bonds (double and triple) with itself.) 
c) കാർബൺ സംയു¤¯ൾ െപാതുെവ ¢പവർÄനേശഷി കുറ·വയാണ്.( Carbon 

compounds are generally not reactive.) 
d) കാർബണിന് നീ¿ ശൃംഖലകളòം വളയ¯ളòം രൂപീകരി£ാൻ കഴിയും. Carbon can form long 

chains and rings.) 
 

نْ  .47
َ
وْ أ

َ
ا ل

َ
ذ

ٰ
نَا ɸَـ

ْ
ٱلْقرُْءَانَ زَل     / The surah that includes the 

verses   ْن
َ
وْ أ

َ
قُرْءَانَ ل

ْ
ا ٱل

َ
ذ

ٰ
نَا ɸَـ

ْ
زَل  ? 

a) ان
َ

خ  الدُّ
ُ
          سُورَة

b)  ِفَتْح
ْ
 ال

ُ
   سُورَة

c) قْمَان
ُ
 ل

ُ
    سُورَة

d)  ر
ْ

ݰَش
ْ

 اݍ
ُ
 سُورَة

 

48. െപൻെÍയ്ൻ എ¢ത സ് ¢ടക്ചറൽ ഐേസാമറുകൾ ഉ¿്? (Pentane has ……………………. 
Structural isomers.) 

a) 3 
b) 2 
c) 4 
d) 1 

 

49. മിൽ£് ഓഫ് മ«ീഷ യിൽ കാണെÐടുË §ാരം ഏതാണ്?( Which base is found in milk of 
magnesia ?) 

a) േസാഡിയം ൈഹേ¢ഡാക്ൈസഡ ്(Sodium Hydroxide) 
b) അേമാണിയം ൈഹേ¢ഡാക്ൈസഡ്  (Ammonium Hydroxide) 
c) മ«ീഷ ം ൈഹേ¢ഡാക്ൈസഡ് (Magnesium Hydroxide) 
d) കാൽസ ം ൈഹേ¢ഡാക്ൈസഡ ്(Calcium Hydroxide) 

 

 ? / 
The evil, of which the Holi Qur'an said that, it is equal to eating fresh human flesh ?

a) / Saying mockery 

b) / Telling lie  

c) / gossiping 

d)  / Expressing enmity 
 

1. അേശാകൻ ഏത ്രാജവംശÄിെല ച¢കവർÄിയായിരുËു? (Which dynasty did Ashoka belong 
to?) 
  a) മൗര  (Maurya) 
  b) കുഷാൻ (Kushan) 
  c) ഗുപ്ത (Gupta) 
  d) മുഗൾ (Mughal) 

 



51. ‘ ’  

/ The misguided group that emerged with the modern claim that authority belongs to Allah alone 
? 

a)  / Khavarij 

b)  / Rafilath 

c) / Sheeath 

d) / Vahabiyath 

 
52.  പുരാതന ഇÎ യിൽ നളÉയുെട ¢പാധാന ം എÎായിരുËു? (What was the primary significance 

of Nalanda during ancient India?) 
a) ൈസനിക പരിശീലന േക¢ÉമായിരുËു  (It was a major centre for military training and 

warfare strategies)  
b) ബുÈ മഠവും ഉËത വിദ ാഭ ാസ േക¢ÉവുമായിരുËു (It served as a prominent Buddhist 

monastery and centre for higher education) 
c)  ഗുപ്ത സാ¢മാജ ÄിെÍ തലéാന നഗരമായിരുËു (It was the capital city of the Gupta 

Empire) 
d) വ ാപാരÄിനും വാണിജ Äിനും േപരു േക¸ éലം (It was primarily a centre for trade 

and commerce.) 
 

53. ഹിÉു മത ¢ഗÏ¯ൾ ധാരാളമായി േപർഷ ൻ ഭാഷയിേല£് പരിഭാഷെÐടുÄെÐ¸ത ്ഏത ്മുഗൾ 

ച¢കവർÄിയുെട കാലÄായിരുËു? (Which Mughal emperor is credited with translating Hindu 
texts into Persian language?) 

  a) ബാബർ (Babur) 
 b) അക്ബർ (Akbar) 
  c) ഔറംഗേസബ് (Aurangzeb) 
 d) ബഹദൂർ ഷാ  (bahadoor sha) 

 
54. 1857-െല വിÑവÄിൽ ബഹാദൂർ ഷാ സഫറിെന ¢പതീകാÂക േനതാവായി കണ£ാ£ാനുß 

കാരണെമÎായിരുËു? (Why was Bahadur Shah Zafar chosen as the symbolic leader of the 

Revolt of 1857?) 
a) ശ¤നായ ൈസനിക ഭരണാധികാരി ആയതിനാൽ (He was a powerful military ruler with 

control over all of India) 
b) െഗറിÞ യുÈ മുറയിൽ ¢പഗÁനായതിനാൽ (He was an exponent of guerilla war.) 

c) ഇÎ ൻ ഐക ÄിെÍ ¢പതീകവും മുഗൾ ച¢കവർÄിയുമായതിനാൽ (He was a unifying 

figure and the last Mughal emperor) 
d) ¢ബി¸ീഷ ്വിരുÈ വിÑവÄിെÍ േനതാവ് ആയിരുËതിനാൽ (He had personally planned 
and organized the revolt against the British.) 

55.  താെഴ പറയുËവയിൽ ആദ മായി ഇÎ യിെലÄിയ യൂേറാപ ൻ ശ¤ി ഏതാണ്? (Which of the 

following European powers was the first to arrive in India?) 
  a) ഡ°് (Dutch) 

  b) ഇം¬ീഷ ്(English) 

  c) ¢ഫ´് (French) 

 d) േപാർ°òഗീസ് (Portuguese) 
 



م    .56
َ
ل

َ
دِ ق

َ
ول

ْ
عِندَ   The adjective in the sentence /   جَدِيدعِندَ ال

م جَدِيد 
َ
ل

َ
دِ ق

َ
ول

ْ
 ? ال

a) عند 

b)  جديد 

c)  الولد 

d)  قلم 

 
57.  താെഴ െകാടുÄിരി£ുË സംഭവ¯ളòെട ശരിയായ കാല ¢കമം ഏത?് (Which of the following 

represents the correct chronological sequence of events?) 
a) ക¡ിÜ് ഇÎ  ¢പéാനം – വ ¤ി സത ാ¢ഗഹം – കാബിനÜ് മിഷൻ  (Quit India Movement – 

Individual satyagraha – Arrival of Cabinet Mission) 
b) വ ¤ി സത ാ¢ഗഹം – ക¡ിÜ് ഇÎ  ¢പéാനം – കാബിനÜ് മിഷൻ (Individual satyagraha – 

Quit India Movement – Arrival of Cabinet Mission) 
c) വ ¤ി സത ാ¢ഗഹം – കാബിനÜ് മിഷൻ – ക¡ിÜ് ഇÎ  ¢പéാനം (Individual satyagraha – 

Arrival of Cabinet Mission – Quit India Movement) 
d) ക¡ിÜ് ഇÎ  ¢പéാനം – കാബിനÜ് മിഷൻ – വ ¤ി സത ാ¢ഗഹം (Quit India Movement – 

Arrival of Cabinet Mission –  Individual satyagraha) 
 

58. / Well-known Sufi who  

lived during the period of Shafi(r) ? 
a)  / Rabia Adaviya (r) 

b)  / Fathima Naisaburiya (r) 

c) / Mariyath ul Kibthiya (r) 

d) / Nafisath ul Misriya(r) 

  
59.  താെഴ പറയുËവയിൽ ഏത ്പÈതി ¢പകാരമാണ് ഇÎ ാ വിഭജനം പൂർÄിയാ£ിയത?് (Which 

plan served as the basis for the Partition of India?)  
  a) ൈസമൺ ക×ീഷൻ റിേÐാർ¸് ( Simon Commission Report) 
  b) കാബിനÜ് മിഷൻ Ñാൻ (Cabinet Mission Plan) 
 c) മൗ¿്ബാÜൺ Ñാൻ (Mountbatten Plan) 
 d) െനഹ്റു റിേÐാർ¸് (Nehru Report) 

 

 
60.  x = 2¹⁰ × 3⁵ × 5³, y = 2⁸ × 3⁷ × 5² ആയാൽ, x-െÍയും y-െÍയും ല.സാ.ഗു (LCM) എ¢ത?  (If x = 210 × 

35 × 53 and y = 28 × 37 × 52, what is the LCM of x and y?) 
 

 A) 2¹⁰ × 3⁷ × 5³   B) 2⁸ × 3⁵ × 5³   C) 2¹⁸ × 3¹² × 5⁵   D) 2¹⁰ × 3⁷ × 5²   
  

 
61.  മൂË് തുടർ°യായ ഒÜ അഭാജ  സംഖ കളòെട ആെകÄുക 173 ആണ്. ഏÜവും വലിയ അഭാജ  

സംഖ  ഏത?്   (The sum of three consecuƟve odd prime numbers is 173. What is the greatest prime 
number?) 

 

   A) 61   B) 67   C) 71   D) 73   
 

62.  a + b + c = 9, ab + bc + ca = 26 ആയാൽ, a² + b² + c²-െÍ മൂല ം എ¢ത?  (If a + b + c = 9 and ab + bc 
+ ca = 26, then the value of a2+b2+c2  is:) 



 
   A) 35   B) 31   C) 29   D) 47   

 

63. ‘ ‘ ب
ْ
قَل

ْ
دَوَاءُ ال

/ Which of the following excludes the medicine for heart diseases(ب
ْ
قَل

ْ
  ? (دَوَاءُ ال

a) / Thahajjud namaz 

b) / Visiting the sick 

c) / Proximity of virtuous people  

d) / Qur'an recitation 
  

 

64.  x + 1/x = 3 ആയാൽ, x⁴ + 1/x⁴ എ¢ത?  (If 𝑥 +
ଵ

௫
= 3, what is 𝑥ସ +

ଵ

௫ర ?) 
 

   A) 45   B) 49   C) 47   D) 50   
  
 

65.  ഒരു സമഭുജ സമാÎരീകÄിെÍ കർണ¯ൾ 16 cm, 12 cm ആണ്. സമഭുജ 
സമാÎരീകÄിെÍ ചുÜളവ് എ¢ത?   (The diagonals of a rhombus are 16 cm and 12 cm. Find the 
perimeter of the rhombus.) 

 
   A) 20 cm   B) 24 cm   C) 40 cm   D) 48 cm   

  
 

66.  6 cm ആരമുß ഒരു വൃÄം ഒരു ചതുരÄിനുßിൽ േരഖെÐടുÄിയിരി£ുËു. ചതുരÄിെÍ 
േശഷി£ുË ഭാഗÄിെÍ വിസ്തീർ¾ം എ¢ത?  (A circle of radius 6 cm is inscribed inside a square. 
What is the area of the remaining porƟon of the square?) 

 

   A) 18 cm²   B) 24 cm²   C) 28 cm²   D) 36 cm²   
  

 

67. / the 

Prophet (peace be upon him) said that this Surah is equivalent to one-fourth of the Qur'an. ? 
a)  / Kafiroon 

b)  / Ikhlas 

c)  / Yasin 

d)  / Fathiha 
 

68.  ഒരു േഗാളÄിെÍ വ ാപ് തം ഒരു ഘനÄിെÍ വ ാപ് തÄിന് തുല മാണ്. േഗാളÄിെÍ ആരം 3 
cm ആെണ­ിൽ, ഘനÄിെÍ വശÄിെÍ നീളം എ¢തയാണ്?  (The volume of a sphere is equal to 
the volume of a cube. If the radius of the sphere is 3 cm, what is the length of the cube's edge?) 

 

   A) 2 cm   B) 3 cm   C) 4 cm   D) 5 cm   
 

69.  ഒരു േകാണിെÍ അടിéാന ആരം 50% വർÈിÐി£ുകയും ഉയരം മാÜമിÞാെത 
നിലനിർÄുകയും െചÛòËു. വ ാപ് തം എ¢ത ശതമാനം വർÈി£ും?  (The base radius of a cone is 
increased by 50% while keeping the height the same. By what percentage does the volume increase?) 

 
   A) 100%   B) 125%   C) 225%   D) 150%   

 

 بِهِ  .70
ُ
وذ

ُ
ل

َ
ʏ مَنْ أ

َ
قِ مَاڲ

ْ
ل

َ
رَمَ اݍݵ

ْ
ك

َ
 /  يَا أ

the great person who wrote the anthology that includes the lines: ِيَا أكَْرَمَ الخَلْقِ مَا لِيَ مَنْ ألَوُذُ بِه" 
a) (ر) ʏِافِڥ مَامُ الشَّ ِ

ْ
 الا

b)  (ر) مَامُ البُوصِ؈في ِ
ْ

 الا



c)  (ر) ʏِمَامُ اليَافِڥ ِ
ْ

 الا
d)  (ر) ܣ قَاعِۜ

ْ
 الشيخ عُمَرُ ال

  

 
71.  60 വിദ ാർÅികളòß ഒരു ¦ാസിെÍ ശരാശരി ഭാരം 50 kg ആണ്. 80 kg ശരാശരി ഭാരമുß 5 

വിദ ാർÅികൾ ¦ാസ് വി¸òേപായാൽ, പുതിയ ശരാശരി ഭാരം എ¢തയാണ്?  (A class of 60 students 
has an average weight of 50 kg. If five students with an average weight of 80 kg leave the class, what is 
the new average weight?) 

 
   A) 47 kg   B) 48.5 kg   C) 49 kg   D) 49.5 kg   

  

 

72.  ഒരു സ´ിയിൽ 6 ചുവÐ്, 5 നീല, 4 പ° പÎുകൾ ഉ¿്. ര¿് പÎുകൾ അതിൽ നിŹും 

എടു£ുËു. അതിൽ ഒെË­ിലും ചുവÐ് ആകാനുß സാധ ത എ¢തയാണ്?  (A bag contains 6 red, 
5 blue, and 4 green balls. Two balls are drawn at random. What is the probability that at least one is 
red?) 

 

    A) 19/30   B) 20/30   C) 21/30   D) 22/30   
  

 

73.  n! െന 1100 െകാ¿് ഹരി£ാൻ കഴിയാെത 990 െകാ¿് ഹരി£ാൻ കഴിയുെമ­ിൽ, n െÍ 
ഏÜവും െചറിയ മൂല ം എ¢ത?  (If n! is divisible by 990 but not by 1100, what is the smallest possible 
value of n?) 

 
    A) 10   B) 11   C) 12   D) 13   

 

ضَمِ؈ف      .74 (Pronoun) ? / A pronoun (ضَمِ؈ف) in the Arabic language  ? 

a)  ُحْن
َ
 ن

b) ࢼَܢ
َ
 ن

c)  ʏَڍ
َ
 ن

d) ܢ َۚ  مِ
   

75.   x² + x – 1 = 0 എ­ിൽ, x⁴ + x² + 1-െÍ മൂല ം എ¢ത?  (If x2 + x – 1 = 0, find the value of x4+x2+1.) 
 

    A) 1   B) 2   C) 3   D) 4   

76.   ഒരു ചാ¢കിക ചതുർഭുജÄിെÍ എതിർ േകാണുകളòെട ആെകÄുക എേÐാഴും 
എ¢തയായിരി£ും?  (The sum of two opposite angles of a cyclic quadrilateral is always) 

 
    A) 90°   B) 120°   C) 180°   D) 360°   

        
 

77.  ഒരു സിലി¿റിെÍ ഉയരം ഇര¸ിÐി£ുകയും ആരം മാÜമിÞാെത നിലനിർÄുകയും െചÛòËു. 
അതിെÍ വ ാപ് തം എ¢ത മട¯് വർÈി£ും?  (The height of a cylinder is doubled while keeping the 
radius the same. By what factor does its volume increase?) 

 
    A) 2   B) 4   C) 8   D) 16   

  
 

78.  ഒരു പകിടെയ(dice) മൂË് തവണ ഉരു¸òËു. സംഖ കളòെട ആെകÄുക 6 ആകാനുß സാധ ത 
എ¢ത?  (A dice is rolled three Ɵmes. What is the probability that the sum of the numbers is 6?) 

 
    A) 10/216   B) 15/216   C) 20/216   D) 25/216   

 



79.  / The 

motherland of the Jifri family, who are prominent among the Sayyids who arrived in Kerala. ? 
a)  / Bukhara 

b) / Iraq 

c) / Egypt 

d) / Yaman 
 
 

80. ഒരു concave ദർÐണÄിൽ വസ്തു focus-നും pole-നുമിടയിൽ െവ°ാൽ ¢പതിബിംബÄിെÍ 

¢പേത കത എÎായിരി£ും? (What will be the specialty of  image formed in a concave mirror ,if 
the object Is placed between  focus and pole ?) 

 
a. മിഥ യും തലകീഴായതും (Virtual and Inverted) 
b. യഥാർÅവും തലകീഴായതും (Real and Inverted) 
c. മിഥ യും നിവർËതും (Virtual and Erect) 
d. യഥാർÅവും നിവർËതും (Real and Inverted) 

81. ഒരു convex lens െവßÄിൽ മു£ിയാൽ അതിെÍ focal length-ന ്എÎാണ് സംഭവി£ുക? (A 
convex lens is submerged in water. How does its focal length change?) 

 
a. കൂടുËു (Increases) 
b. കുറയുËു (Decreases) 
c. മാÜമിÞ (Remains the same) 
d. പൂജ മാകുËു (Becomes zero) 

 
82. മഴവിൽ ഉ¿ാകുË വിവിധ നിറ¯ൾ£് താെഴ പറയുËവയിൽ ഏത ്¢പ¢കിയയാണ് 

കാരണമാകുËത?് (In a rainbow, which of the following processes is responsible for the 
formation of different colors?) 

a) പൂർ¾ ആÎരിക ¢പതിഫലനം (Total internal reflection) 
b) അപവർÄനവും വിസരണവും (Refraction and dispersion) 
c) ഡി¢ഫാ§നും ഇÍർെഫറൻസും (Diffraction and interference) 
d) േപാളൈറേസഷൻ (Polarization) 

 

83. / The year in which Khilafath ended up in 

the world. ? 
a) 1923 AD 
b) 1857 AD 
c) 1924 AD 
d) 1920 AD 

 

84. ഒരു സമാÎര സർക ó¸ിെന£ുറി°് താെഴ പറയുËവയിൽ ഏതാണ് ശരി? (Which of the 
following statements about a parallel circuit is true?) 

a) എÞാ ഘടക¯ളിലൂെടയും ൈവദ òതി ഒരുേപാെല ആയിരി£ും (Current is the same 
through all components) 

b) എÞാ ഘടക¯ളിലും േവാൾെ¸ജ് ഒരുേപാെല ആയിരി£ും (Voltage is the same across all 
components) 

c) ആെക ¢പതിേരാധം എËത ്എÞാ ¢പതിേരാധ¯ളòം കൂ¸ിയതാണ് (The total resistance is 
the sum of all resistances) 

d) ഒരു resistor നീ£ം െചയ്താൽ സർക ó¸ിെല ൈവദ òതി നിൽ£ും (Removing one resistor 
will stop current flow in the circuit) 

 



عِ؈ن  .85
ُ ْ
تْحُ الم

َ
 The author of the /   ف

famous Shafi jurisprudence text  عِ؈ن
ُ ْ
تْحُ الم

َ
 ? ف

a)  / Shaikh Abdul Aziz Maebari (r) 

b)  / Shaikh Zainudhin Al Makthum the 

Second (r) 
c)  / Shaikh Ibn Hajar al Haithami (r) 

d)  / Shaikh Zainudhin Al Makhdum the 

First (r) 
 

86. കാÎിക മ»ലം ഇടÄുനിË് വലേÄാ¸òം current കുÄെന താേഴാ¸òം ആെണ­ിൽ, 

ബലÄിെÍ ദിശ ഏതായിരി£ും? (If a magneƟc field is directed from leŌ to right and the 
current flows verƟcally downward, what is the direcƟon of the force?) 

a) മുകളിേല£് (Upward) 
b) താേഴ£് (Downward) 
c) േപജിേല£് (Into the page) 
d) േപജിൽ നിË് പുറേÄ£് (Out of the page) 

 
87. സർക ó¸ിെÍ ആദ െÄ േവാൾെ¸ജ് ‘V’യും ൈവദ òതി ‘I’ യുമാെണ­ിൽ, Vയും Iയും 

ഇര¸ിയാ£ിയാൽ resistance (R)-ന് എÎ് സംഭവി£ും? (If the IniƟal voltage of the circuit is ‘V’ 
and that of current is ‘I’.  What will happens to the resistance ( R ) of the circuit if V and I are 
doubled ?) 

a. R എËത ്2R ആയി മാറും (R tends to 2R) 
b. R പകുതിയാകും (R will be halved) 
c. R-ന ്മാÜെമാËുമു¿ാവിÞ (R will remains the same value) 
d. R എËത ്4R ആയി മാറും (R tends to 4R) 

 

88. Choose the synonym of "Sycophant":  
a) Critic  b) Flatterer c) Leader d) Honest person 

اشِدَة  .89 ة الرَّ
َ
ف

َ
ݵِلا

ْ
 The prominant person who / ?  اݍ

ruled for a shortwhile following اشِدَة ة الرَّ
َ
ف

َ
ݵِلا

ْ
  ? اݍ

a)  / Abdullah ibn Zubair (r) 

b) / Muaviya (r) 

c) / Husain (r) 

d)  / Hasan ibn Ali (r) 
 

90. A person who is fluent in multiple languages:  
a) Linguist b) Polyglot c) Philologist d) Orator 

91. "The knight wore a heavy suit of ___ during battle."  
a) Armor b) Amour c) Aimer d) Armour 

92. Which of the following sentences contains an adjective with an incorrect degree of comparison? 
a) This is the most beautiful painting I have ever seen.  

b) She is more cleverer than her brother. 

c) The weather today is colder than yesterday.   

d) He gave me the least important task. 



93. Which of the following sentences is incorrect? 
a) Neither the teacher nor the students like the new policy 

b) Neither my mom nor my dad supports my decision.  

c) Neither the cat nor the dogs are hungry. 

d) Neither the students nor the teacher was present. 

94. Which sentence is NOT correctly structured? 
a) The train arrived late because of the storm. 

b) The boy, who was very tired, slept early. 

c) Running fast, the race was won by John. 

d) He finished his homework and went to bed. 

95.  / The 

Muslim physician who is known as the father of modern medical science ? 
a)    / Abu Ali ibn Zina  

b)   / Abu Alai Al Ma'ari 

c)   / Abullah ibn Hisham 

d)   / Ahmad ibn Hasan 
 

96. "Although he was exhausted, he continued working late into the night." 
a) Simple sentence  b) Compound sentence 

c) Complex sentence  d) Compound-complex sentence 

97. "By the time we arrived, the train ___." 
a) Left  b) Had left  c) Leaves d) Is leaving 

98. By the end of this year, I ___ five books."   
a) Will write   b) Will have written  

c) Have written   d) Am writing 

99. "If I ___ you, I would accept the offer." 
a) Am  b) Was  c) Were  d) Will be 

100. ( )    ? / The 

Surah that includes verses which caused Umar (R.A.) to embrace Islam. ? 
a)  ُورَ س 

ُ
أ بَ النَّ  ة      

b)  ُورَ س 
ُ
ه ة

َ
ط                

c)  ُورَ س 
ُ
بَقَرَة  ة

ْ
ال               

d)  ُورَ س 
ُ
افِرُون  ة

َ
ɢ

ْ
ال  


